ARYAVART GRAMIN RANK OFFICER EXAM

HELD ON :

TEST-I
»  REASONING

Directions (1-3) : Four of the
following five are alike in a certain way
and so form a group. Which is the one
that does not belong to that group?

1.(1) Doubtful (2) Spacious
(3) Confusing (4) Uncertain
(5) Ambiguous

2.(1) Happy (2) Elated
(3) Moved (4) Joyful
(5) Excited

3. (1) America (2) Europe
(3) London (4) Australia
(5) Africa

4. "Topping' is related to 'Pizza' in
the same way as 'Icing' is related

to
(1) Sandwich  (2)Dosa
(3) Cake (4) Burger

(5) Milkshake

5. If only one English word can be
formed with the. letters O, T, E
and R, using each letter only
once, what will be the third al-
phabet of that word from left? If
more than one such word can be
formed, mark your answer as Z.
If no such word can be formed
your answer will be X.

(DT (2)Z
(3)P (4)0
(5)X

6. 'Colleague' is related to 'Office'
in the same way as 'Classmate'
is related to—

(1) School

(2) Childhood

(3) Parents

(4) Teachers*

(5) Principal

Directions (7-11) : Study the
following information to answer the
given questions:

Seven friends P, Q, R, S, T, W and
X are sitting in a straight line facing
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the north not necessarily in the same
order. R is second to the left of X. S is
second to the right of W. Q is second to
the right of P. S is second to the left of
T. Qis an immediate neighbour of S. P
is not an immediate neighbour of S.
7.Who amongst the following is
sitting exactly between W and S

?
(bQ (2)p
3)T (4)X

(5) None of these

8. Who amongst the following has
as many people sitting to his left
as to his right ?
(LW (2)T
(3)S (C):
(5) None of these

9. Four of the following pairs of
people are alike in a certain way
based on their positions in the
arrangement given above and so
form a group. Which one of the
following pairs of people does
not belong to that group?

(1) PQ 2) QW
(3) RX (4) ST
(5)WS

10. If all the seven are made to sit
in alphabetical order, starting
from left to right the positions
of how many people will not

change?
(1)One (2) Two
(3) Three (4) Four

(5) More than four

11.Who amongst the following is
sitting to the immediate left of

X?
(DT (2)R
(3)Q (48

(5) None of these

Directions (12-16): In each of
the questions below are three state-
ments followed by two conclusions
numbered I and II. You have to take
the three statements to be true even
if they seem to be at variance from

commonly known facts and then de-
cide which of the given conclusions logi-
cally follows from the three state-
ments disregarding commonly known
facts.
Give answer (1) if only conclu-
sion I follows.
Give answer (2) if only conclu-
sion II follows.
Give answer (3) if either con-
clusion I or conclusion II follows.
Give answer (4) if neither con-
clusion I nor conclusion II follows.
Give answer (5) if both conclu-
sion I and conclusion II follow.
12. Statements:
All plants are bottles.
All bottles are caps.
All caps are crowns.
Conclusions:
I. Atleast some crowns are
bottles.
II. All plants are caps.
13. Statements:
Some shoes are handkerchiefs.
Some handkerchiefs are calcu-
lators.
All calculators are paper.
Conclusions:
I. No calculator is a shoe.
II. No shoe is a paper.
14. Statements:
All zebra are cows.
All camels are cows.
All tigers are zebra.
Conclusions:
1. All tigers are cows.
II. All camels being tigers is a
possibility.
15. Statements:
Some pencils are mobiles.
All mobiles are grass.
All grass is green.
Conclusions:
I. All grass being pencils is a
possibility.
II. No ereen is mobile.



16. Statements:
All watches are cards.
Some cards are clips.
All clips are chairs.
Conclusions:
I. All chairs being cards is a
possibility.
II. All clips being watches is a
possibility
Directions (17-21): In each of
the following questions assuming the
given statements to be true, find out
which ofthe following two conclusions
definitely follow.
Give answer (1) ifonly conclu-
sion I is true.

Give answer (2) ifonly conclu-
sion II is true.

Give answer (3) ifeither con-
clusion I or conclusion II is true.
Give answer (4) if neither con-
clusion I nor conclusion II is true.
Give answer (5) if both conclu-
sion I and conclusion II are true.
17. Statements:
A<B,F>G B<F
Conclusions:
I. B<G
I A>G
18, Statements:
0>50<D,8<C
Conclusions:
L. 0<C
I 5<D
19. Statements:
G=C,P>G,C>D
Conclusions:
1. D<G
II.C<P
20. Statements:
AzJ,C=Y,J>C
Conclusions:
. Y>dJ
II.A>Y
21. Statements:
R=B,B>T,T<D
Conclusions:
L T>R
IH.R=D
Directions (22-26): Each ofthe-

following questions below consists of

a question and two statements

numbered I and IIT given below it. You
have to decide whether the data

provided in the statements are
sufficient to answer the question. Read

both the statements and—

Give answer (1) Ifthe data in
Statement I alone is sufficient to
answer the question, while the data
in statement II alone are not suffi-
cient to answer the question.

Give answer (2) Ifthe data in
Statement Il alone is sufficient to
answer the question, while the data
in statement I alone are not sufficient
to answer the question.

Give answer (3) Ifthe data in
either Statement I alone or state-
ment II alone are sufficient to an-
swer the question.

Give answer (4) If the data in
both the Statements I and II are
not sufficient to answer the ques-
tion.

Give answer (5) Ifthe data in
both the Statements I and II are
together necessary to answer the

question.
22. Who is the tallest of A, B, C, D
andE?

I. B is shortest amongst the five
people.

II. C is taller than D.

23. How is 'stand' coded ?

I. 'cost ofpen'is coded as 'la ke
if.

II. 'pen stand'is coded as'kehu'.

24. How many marks did Sudhir
score in Maths ?

I. Sudhir has scored 65% marks
overall.

II. The difference
Sudhir's marks in Maths and
English is 12 marks.

25.0n which day of the week did

Mansi take leave from her office
?

between

I. Mansi correctly remembers
that she took leave before
Friday but after Monday.

II. Mansi's friend correctly re-

took

leave before Saturday but af-

members that Mansi

ter Thursday.
26. How many brothers does Mary
have (Mary is a girl) ?
I. Mary has only one younger
brother.
II. Mary's father has only one

son.

27.1f "CARING' 1is <coded as
'EDVGKC, and 'SHARES' is
coded as 'UKEPBO', how will
CASKET be coded as in the
same code?
(1)EDWIAP (2)EDWPAI
(3) EDWIBP (4) EDXIBP

(5) EDWIBQ
28. 'BE'isrelated to 'GJ'in the same
way as 'FI is related to KN'. 'LO'

is related to

(1H)QV (2)RU
(3)QT (4) UV
(5)UT

29. How many such pairs of letters
in the word CAR-
TOONIST each of which has as
many letters between them in
the word (in both forward and

backward directions),

are there

as they
have between them in the En-
glish alphabetical series?
(1)One (2) Two
(3) None (4) Three
(5) More than three

30. Four of the following five are
alike in a certain way and so
form a group. Which is the one
that does not belong to that

group?
(1) Knife (2) Blade
(3) Needle (4) Sickle

* (5) Scalpel

Directions (31-35): Study the
following information to answer the
given questions :

Eight friends A, B, C, D, E, F, G
and H are sitting around a circular
table facing the centre not necessarily
in the same order. B is second to the
right of A. B is to immediate left of H.
D is second to
right of B. F is fourth to left of H. C is
an immediate neighbour of D. E is not

an immediate neighbour of A.

831. Who is sitting third to the left of

G?
(1)F (2)E
(3)C (4)H

(5) None of these
32. Who is sitting exactly between

E and D ?
(1)G (2)B
3)F (4) H

(5) None ofthese !



33. Who is sitting exactly between
Aand B?
(DE (2)D
B3)F (9H
(5) None of these

34. Four of the following five pairs
of people are alike in a certain
way based on their positions in
the arrangement given above
and so form a group. Which one
of the following pairs of people
does not belong to that group?

(1)GA (2)FC
(3) DB (4) HG
(5)AE

35. In which of the following pairs of
people, are the people not sitting
immediately next to each other?
(DDE 2) AG
(3) BH (4) FE
(5) None of these
Directions (36-40): Study the

information below and answer the
given questions.

In a certain code 'market has
value' is coded as 'lo pe he', Value for
money" is coded as 'he zo kh', 'money in
market' is coded as 'kh ma lo' and 'has
little value' is coded as 'pe sy he'.

36. How will "in the market" be
coded?.

(1) ma lo sy

(2) ma pe he

(3) lo he pe

(4) ma lo ki

(5) lo ma sy

37. How will "little value for money
be coded?

(1) sy zo kh ma (2) he ma zo kh
(3) sy he pe lo
(4) sy lo zo pe
(5) None of these
38. What is the code for 'Value" ?

39. What does the code "zo" stand
for?
(Din
(2) market
(3) has (4) for
(5) None of these
40. What is the code for "money" ?

(Dpe
3) 1o
(5) None of these

Directions (41-50): In each of the questions given below which one of
the five answer figures on the right should come after the problem figures on

the left, if the sequence were continued ?

(2) he
(4) sy

Problem Figures

(Dkh
(3)pe

(2) ma
(4) he
' (5) None of these
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57.69.89% of 1880 - 45.28% of 701
2

TEST-II , 3 2
) +36 =48+
NUMERICAL ABILITY (1) 1100 (2) 1200 66. 1. x *
& Yoa
Directions (51-55): What will (3) 1000 (4) 1300 IL 45 7 =1008+ 45
come in place of the question mark (?) (5) 1400 :
in the following questions? 58. 5("14)4;’24'5 45 x 7- (52())3;’4;; 67. 1. J193G x+J484 =0
2 3 _ 2
5L 77 + (57 + (3% = (7% + (3) 3590 (4) 3670 1
303 - 543 + 22 x 7 (5) 3740 11, Y100y +(36)2 =0
59.(9.01): - (13.01): + (6.01): = ? 2 04 = ()
(1) 421 +14ﬁ : (1) 1450 (2) 1860 68 }:I (1]3?.; j ny3 =(ic1)62
(2) 1247 (3) 1980 (4) 1720 '
' (5) 1650 178 122 _ %
(3) 1247 60.549 x 455 53 £ 199 x 121 =2  ©9 I = -~~~ 8x5
(4) (21)3 (1) 2860 (2) 2990 " x5 x5
{5) 21
g iggg @ 2470 1. y* + 4498 = 5454 — 444
. 1.9 1 1o 5 2 =
52. (11" - 1=+ ()" =2+l Directions (61-65): Whatwill ‘0 1+ 20 ~1la+14=0
) . . . If. 2y - 15y + 28 =0
;ome in place of question mark (?) in ) )
1 23 2) 25 he following number series ? . One of the angles of a triangle is
96 144 61.112 259 392 511 616 (?) ?allf the 1ar§ﬁr angle of a paral-
29 95 1) 701 @) 707 elogram. e ?espectlve ratio
3) = ) @) 711 @) 715 between the adjacent angles of
96 48 the parallelogram is
{5) None of these (5) None of these 14 : 31 . The smallest angle of
53.76.5% of 6244 = 2333 + ? + 62.45 70 413 494 1825 () the triangle is half the smaller
145.66 (1) 1994 (2) 1978 angle of the parallelogram.
(1) 2298 (2) 2232 (3) 1986 (4) 1998 What is the value of the largest
{3y 2368 (4) 2242 (5) None of these angle of the triangle ?
(5) None of these 63-5(%727295 159 (2)1 2957 ) (1) 110° (2) 100°
1 N 3 (3) 30 (4) 39 g))?\?one of these wre
54. (2744)2 + (196)* x (1.4)2 (5) None of these
72. Veena's monthly salary is equal
?-— 64.45 186 283 344 377 (?) . foy
=(.4) 2 (1397 (2)387 to eighty two percent of Amit's
monthly salary. Amit's monthly
:{1;;2 :i;; E(‘;; ;90 i (4) 380 salary is ¥ 24,000 more than
one ol these Meena's monthly salary. If Mee-
{5) None of these 65.76 115 64 103 52 (?) na's monthly salary 1s342,000.
) 1)91 . (2)97 what is Veena's annual salary ?
55. +J289 = (73 2 ( Y
122652 289‘ 77 +a2) 3) 89 (4) 87 (1)T 6.4936 lacs
(8 (2) 14 (5) None of these (2)T 6.4264 lacs
(3) 24 (4)18 Directions (66 - 70): In the fol- (3) X 6.4444 lacs
(5) None of these lowing questions two equations num- (4) T 6.4844 lacs

Directions (56-60): What ap-  bered I and II are given. You have to

. . (5) None of these
proximate value should come in place  golve both the equations and

. o : ] 0
;)If ;hgu%zfis;;:? mark (?) in the follow gl)ve answer x[:y 73. Three-fourteenth (% lh] of o
(Note : You are not expected to (2) xzy dius of a circle of area 5544 sq.
calculate the exact value.) _, 3) . . <y | o e e e e of o
°6. 47_8528;7?;)45;95129'09 * 227899 =1 TS x<y square. Area of a rectangle is

' (8) x=yor equal to the area of the square.

(1) 1500 (2) 1550 ) the relation- If the breadth of the rectangle is

g; 12(5;8 ' (4) 1700 ship cannot be 6 cm, what is the length of the

established rectangle ?



74.

75.

76.

77.

(1) 11.5 cm

(2) 9.5 cm

(3) 13.5 cm

(4) Cannot be determined

(5) None of these

Train-A covered a distance of
2320 km in 16 hours Speed of
Train-B is four-fifth of the speed
of the Train-A. How much dis-
tance will Train-C cover in 8
hours if the speed of the train-C
is three-fourth of the speed of the
Train-B ?

(1) 704km

(3) 684km

(5) None of these
The respective ratio between the
present ages of daughter, father,
mother and son is
2:9:8:3. The sum of father's
and mother's present ages to-
gether is 68 years. What is the
sum of their daughter's and
son's present ages together ?
(1) 16 years

(2) 14 years

(3) 20 years

(4) Cannot be determined

(5) None of these

In a test Devanshi scored 1269
marks and failed by 331 marks.
Prakhar scored 1723 marks
which are 277 less than the
maximum marks of the test.
What is the minimum passing
percentage ?

(1)90 .

(2)70

(3)60

(4) Cannot be determined

(5) None of these

The sum of five consecutive odd
numbers and four consecutive
even numbers together is 325.
Also, the largest odd number is
9 less than smallest even num-
ber. What is the sum of the sec-
ond largest odd number and the
second smallest even number ?
(1)75

(2)77

(3) 73

(4) Cannot be determined

(5) None of these

(2) 696km
(4) T14km

78.

79.

Chamanlal purchased a mobile
phone and a refrigerator for ¥
15,400 and ¥19,600 respective-
ly. He sold mobile phone for a
profit of 15 per cent and the re-
frigerator for a loss of 20 percent.
What is his overall loss/profit ?
(I)Loss of ¥ 1,620

(2) Profit of 31,620

(3) Loss of 1,610

(4) No gain no loss

(5) None of these

The simple interest accrued on
a sum of a certain principal is 5f
4,500 in three years at the rate
of eight p.c.p.a. What would be

80.

the simple interest accrued on
twice of that principal at the rate
of six p.c.p.a. in five years ?

(1) 11,200

(2)12,520

(3)11,250

(4)312,450

(5) None of these

What value will be obtained from
seventy three percent of five-
ninth of thrice the sum of square
of eighteen and cube of six ?
(1)573 (2)642

(3)657 (4)662

(5) None of these

Directions (81-85): Study the table carefully to answer the questions

that follow :

Students appeared and qualified the entrance exam from four
different institutes in five different years

Institute A B C D
Years\ | App. | Qual.[App.| Qual.| App. [ Qual.] App.| Qual]
2005 658 123 | 657 323 350 144 245 138
2008 787 246 | 878 359 672 335 467 235
2007 579 247 | 568 243 764 354 766 456
2008 1454 778 | 989 456 760 458 844 467
2009 1545 843 1274 673 920 494 | 1514 954
App. - Appeared, Qual. - Qualified
81. What was the percent increase (1113
in the number of students ap- (2) 104
* peared from institute-D in the (3) 107
year 2007 as compared to previ- 4)111
?11)8 73éear ’ (5) None of these
(2)74 84. What was the average number
(3)64 of students appeared in the year
2006 from all the four institutes
(4) 174 )
3) 60 together ? ( ‘
82. In which year was the difference (1701 (D712
between the number of students (3)709
appeared and qualified the en- (4722
trance test second lowest from (5) None of these

83.

institute-C ?

(1)2005

(2)2006

(3)2007

(4)2008

(5) 2009

What was the difference be-
tween the number of students
appeared in entrance exam from
Institute-B in the year 2007 and
the number of students quali-
fied the entrance test from in-
stitute-D in the year 2008 ?

85.

Number of students qualified in
the entrance test from Institute-
Cin the year 2009 was approxi-
mately what percentage of num
ber of students appeared from
institute-A in the year 2005 ?

(1)87 (2)83
(3)79 (4)75
(5)71

Directions (86-90): Study the

following graph carefully to answer
the questions that follow :



Number of soldiers recruited in
three different forces in six

Number of sotdiers

86.

87.

88.

89.

90.

different years

Oarmy

B Aicho e

[] Navy

2006 2007 2008

Years
What was the difference be-
tween the total number of sol-
diers recruited in all the forces
together in the year 2007 and
the total number of soldiers re-
cruited in Army over all the years
together?

(1)3400
(3)3200
(5) None of these

What was percentage decrease
in the number of soldiers re-
cruited in Army in the year 2010
as compared to the previous year

T anes

2008 2040

(2)3100
(4)3600

1
(1)60 (2)30
(3)50 (4)20

(5) None of these

Total number of soldiers re-
cruited in Airforce in the year
2006 and 2008 together was
what percentage of total num-
ber of soldiers recruited in Navy
in the year 2005, 2007 and 2008
together ?

(1)40 (2)60

(3)70 (4)50

(5)80

What was the approximate av-

erage number of soldiers re-
cruited in Airforce over all the
years together ?

(1)780 (2)796

(3) 760 (4) 830
(5)816

What was the respective ratio

between the number of soldiers
recruited in Navy in the year
2008 and the number of soldiers
recruited in Airforce in the year
2009 ?

(1)3:2

(3)1:3

(5) None of these

(2)3:1
(4)4:3

Directions (91-95): Study the
following pie-chart and answer the fol-
lowing questions.

Percentagewise Distribution of
Selected Candidates From eight
Different States
Total Number of Selected
Candidates = 8900
Percentagewise Distribution of
Selected Candidates

91. What is the difference between
" the' number of selected candi-
dates from Jharkhand and the
total number of selected candi-
dates from Rajasthan and Bihar

together ?
(1)356 (2)342
(3)623 (4)712

(5) None of these

92.

93.

94.

95.

What is the average number of
selected candidates from Bihar,
Orissa, Assam and Kerala to-
gether ?

(1) 1335

(3) 1435

(5) None of these
What is the respective ratio be-
tween the number of the se-
lected candidates from UP. and
the number of selected candi-
dates from Jharkhand ?
(1)6:7 (2)3:4
3)1:2 4)4:5

(5) None of these

Number of selected candidates
from UP is approximately
what percentage of the number

of selected candidates from
Kerala ?

(2) 1345
(4) 1453

(1)63 (2)67

(3)53 (4)57

(G) 0 S

Twenty percent of the number of
selected candidates from

Gujarat is female. What is the
number of male candidates se-
lected from Gujarat ?

(1) 1078 (2) 1086
(3) 1076 (4)1088
(5) None of these

Directions (96-100): Study the following table carefully to answer the

questions that follow.

Distribution of Funds (in Rs. thousands) in five
different departments in six different years

96. What was the 40 percent of the
total fund given to all the de-

partments together in the year
2007 ?

(1) T 22,840
(2) T 20,268
(3) T 57,200
(4) T 54,720
(5) None of these

97. What was the approximate
percent increase in funds given

Departments — | Sports | Education | Research | Agriculture | Medical
Years |

2005 7.2 10.8 5.6 7.8 13.6
2006 8.9 12.3 4.9 12.8 10.5
2007 9.5 11.7 7.2 16.6 12.2
2008 10.5 20.6 9.8 18.7 8.3
2009 8.5 25.5 11.9 21.6 14.5
2010 11.2 24.5 14.8 20.9 229

98.

to Education department in the;
year 2009 as compared to thef
previous year ?

(1)133 (2)37

(3)24 (4)29

(5)33

Funds given to Medical depart]

ment in the year 2006 was what
percentage of the fund given to
Sports department in the yeart
2010 ? !



99.

100.

(1)92.75
(3)92.25

(5) None of these
What was the average fund given
to agriculture department over
all the years together ?

(1)? 16,400 (2)716,200
(3)~ 1,62,000 (4)” 98,400
(5) None of these

In which department was the
fund distributed consistently
increased from year 2006 to
2010 ?

(1) Sports

(2) Education

(3)Research

(4) Agriculture

(5) Medical

TEST-III :

(2)93.25
(4)93.75

GENERAL KNOWLEDGE

101.

102.

103.

104.

105.

Eminent Author Amar Kant
writes in which of the following
languages ?
(1) Hindi
(3) Oriya
(5) Punjabi
Who is J. Hari Narayan ?

(1) Chairman IRDA

(2) Chairman. SEBI

(3) Chairman, Coal India

(4) Member, Planning Commis-
sion

(5) None of these

Eminent Author, Chan-
drasekhar Kambar has been
chosen for Jnanpith Award for
the year 2010. In which one of
the following languages does he
write ?
(HUrdu
(3)Kannada
(5) Punjabi
Vijender Singh is associated
with which one of the following
games ?

(1) Shooting

(2) Boxing

(3) Athletics

(4) Badminton

(5) None of these

Which of the following is a pri-
vate bank in India ?

(2) Urdu
(4) Tamil

(2) Tamil
(4) Hinda

106.

107.

108.

109.

110.

111.

112.

(1) Oriental Bank of Commerce
(2) Corporation Bank

(3) South Indian Bank

(4) Syndicate Bank

(5) Bank of Maharashtra
Which one of the following hon-
orary ranks has been conferred
on M S Dhoni by the President
Mrs. Pratibha Patil ?

(1) Major

(2) Colonel

(3) Lt. Colonel

(4) Lt. General

(5) None of these

Salman Khurshid is Minister in-
charge of which of the following
Ministries in Union Cabinet ?
(1) Coal

(2) Environment

(3) Corporate Affairs

(4) Law

(5) None of these

Expand the term'MAT' —

(1) Minimum Add-on Tax

(2) Maximum Add-on Tax

(3) Minimum Alternate Tax

(4) Maximum Alternate Tax

(5) None of these

Gagan Narang is associated
with which one of the following
sports ?

(1) Shooting

(2) Boxing

(3) Swimming

(4) Golf

(5) Badminton

Standard and Poor's had re-
duced the Credit rating of which
one of the following countries a
few months back ?

(1) Ireland (2) Portugal
(3)Greece (4)Italy
(5)USA '

Which is a popular name in the
field of Banking?

(1) Dr. K.C. Chakraborty

(2) Shri Sachin Pilot

(3) Ms. Uma Bharati

(4) Shri Kamal Nath

(5) None of these

With which one of the following
fields is Somdev Devvarman
associated ?

113.

114.

115.

116.

117.

118.

(1) Literature

(3) Medical

(5) Sports

For which one of the following

reasons Mohindar Amarnath

had been in news recently ?

(1) He had been included in se-
lection panel of BCCI

(2) He had been included in IPL
Governing Board

(3) He had been selected as
coach for Indian Test Cricket
Team

(4) He had been appointed to the
post of Advisor to the Prime
Minister on India's Youth

, Policy

(5) None of these

In which one of the following

countries does river Thames

flow?

(1) Chile

(2) Argentina

(3) Ireland

(4) United Kingdom

(5) Russia

With the assistance of which one

of the following countries

Kudankulum Atomic Power

Project is being set up ?

(1) France

(2) Germany

3) UK

(4) Russia

(5) None of these

Golfer Jeev Milkha Singh plays

for which one of the following

countries ?

(1) USA

(3) Germany

(5) Pakistan

Childrens' day is observed on

which of the following days ?

(1) July 15

(2) November 14

(3) April 5

(4) September 14

(5) August 25

Head Office of which of the fol-

lowing banks is in Kolkata?

(1) Punjab National Bank

(2) Bank of India

(3) UCO Bank

(4) Corporation Bank

(5) Syndicate Bank

(2) Cinema
(4) Politics

(2) India
(4) Canada



119.

120.

121.

122.

123.

124.

125.

Atomic Power Station is locat-
ed in which of the following plac-
es in India ?
(1) Allahabad
(3) Shimla

(5) Kalpakkam
Government of India has made
a special agreement with USA
to develop which of the following
modes of power generation in
India ?

(1) Hydro Power

(2) Thermal Power

(3) Wind Power

(4) Nuclear Power

(5) Tidal Power

Which of the following is NOT
an agricultural product ?

(2) Pune
(4) Chennai

(1) Oilseeds (2) Alum
(3) Jute (4) Cotton
(5) Rice

Who amongst the following is
the author of the book A Bend in
the River'?

(1) Amrita Pritam

(2) Mulkraj Anand

(3) Nirmal Verma

(4) Anita Das

(5) VS Naipaul

Which of the following is the ab-
breviated name of the organisa-

tion working for the welfare of
the women ?

(1)CII (2)CIC
(3) SEWA (4) CRY
(5) SPCA

Which of the following is NOT a
programme to develop infra-
structure in India ?

(1) National Highway Develop-
ment Programme

(2) Jawaharlal Nehru National
Urban Renewal Mission

(3) Rajiv Awas Yojana

(4) Mahatma Gandhi National
Rural Employment Guaran-
tee Act

(5) Accelerated Power Develop-
ment and Reform Pro-
gramme

Who is the Prime Minister 01
Bangladesh at present ?

(1) Hamid Karzai
(2) Sheikh Haseena Wajed
(3) Abdul Hamid

126.

127.

128.

129.

130.

131.

132.

(4) Zillur Rahman
(5) None of these
Saina Nehwal who was in news

recently is associated with the
game of

(1) Basket Ball (2) Tennis

(3) Cricket (4) Chess

(5) Badminton

Which one of the follwing state-

ments about RBI is 'True' ?

(1) RBI is the regulator of Banks
and Securities market in In-
dia

(2) RBI started functioning
from 1870

(3) RBI controls all Self Help
Groups (SHGs) in India

(4) RBI maintains the foreign
exchange reserves of India

(5) None of these

Hillary Clinton who was on a

visit to India few months back

is the US Secretary of

(1) State

(2) Defence

(3) Foreign Trade

(4) Political Affairs

(5) None of these

Which of the following is the larg-

est stock exchange of India ?

(1) Delhi

(2) Ahmedabad

(3) Kolkata

(4) Bangalore

(5) Mumbai

Wimbledon Cup is associated

with the game of

(1) Cricket

(2) Football

(3) Hockey

(4) Badminton

(5) Lawn Tennis

Who amongst the following is

NOT a member of SAARC ?

(1) India (2) Pakistan
(3) Nepal (4) Sri Lanka
(5) Brazil

Who is Dr. M S Ahluwalia ?

(1) Executive Director RBI

(2) RBI Dy. Governor

(3) Deputy Chairman Planning
Commission

(4) India's permanent represen-
tative in UN

(5) None of these

i33.

L35.

136.

137.

138.

139.

140.

Which of the following is a min-
eral ?

(1) Castor

(3) Diamond
(5) Cinnamon

(2)Jatropha
(4) Clove

. Which term is used in the field

of Banking ?

(1) Absolute zero

(2) Current Account

3% Plasma

(4) Follow on

(5) Cold chain

Who among the following is a fa-

mous politician ?

(1) Prabhu Chawla

(2) Rahul Gandhi

(3) Chetan Bhagat

(4) Barkha Dutt

(5) Deepika Padukone

Which of the following funds was

created from the proceeds of the

disinvestment of Government

Equity in Public Sector Units ?

(1) National Investment Fund

(2) National Infrastructure De-
velopment Fund

(3) National Disinvestment
Fund

(4) National Disaster Manage-
ment Fund

(5) None of these

Which of the following is the

name of a country ?

(1) Boson (2) Cuba

(3) Dolfin (4) Hisar

(5) Sewan

Taka' is the monetary unit of
(DHIran (2) Iraq

(3) Pakistan
(4) Bangladesh (5) Bhutan

Kalinga Award is given for con-
tribution in the field of

(1) Literature  (2) Sports

(3) Politics (4) Science

(5) Cinema

Which cup/trophy is associated
with the game of cricket?
(DUberCup

(2) Nehru Gold Cup

(3) Merdeka Cup

(4) DCM Cup

(5) Ranji Trophy



141.

142.

143.

144.

145.

146.

147.

148.

Which of the following is the
name of a TV. Channel ?

(1)GRM (2) NYMEX
(3) CAG (4) NPPA
(5) CNN

Which of the following is NOT a
fruit?

(1) Orange (2) Banana
(3) Mustard (4) Pear
(5) Apple

Who among the following is a
well known Cine Actor/Actress
of India cinema ?

(1) Priyanka Chopra

(2) Anjali Bhagat

(3) Sania Mirza

(4) Gaganjeet Bhullar

(5) Zalieer Khan

Which term is NOT used in the
field of economics ?

(1) Net Income

(2) Cost of Project

(3) Flow of Fund

(4) Atomic Number

(5) Balance Sheet

Flu is caused by a

(1) Fungus ”

(2) Bacteria

(3) Virus

(4) Either Fungus or Bacteria
(5) None of these

'White House' is the Official
Residence of the president of

(HUSA (2) France
(3) Italy (4) Germany
(5) Russia

Expand the term FRBM.

(1) Foreign Responsibility and
Business Management

(2) Fiscal Review and Business
Management

(3) Fiscal Responsibility and
Budget Management

(4) Financial Responsibility and
Budget Modification

(5) None of these

Who is NOT a famous cricketer
9

(1) Rahul Dravid

(2) M S Dhoni

(3) Gautam Gambhir
(4) Pankaj Advani
(5) Ashish Nehra

149. Which scheme is launched by the

Government of India to provide
good health care services in ru-
ral areas ?

(D Kutir Jyoti

(2) ASHA

(3) MGNREGA

(4) Bharat Nirman

(5) Swavlamban

150. Which of the following instru-

ments is normally used by med-
ical professionals ?

(1) Stroboscope
(2) Ammeter

(3) Photometer
(4) Thermoscope
(5.) Stethoscope
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